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QUESTION 1

Which of the following tasks can Logstash fulfill without using other components of the Elastic Stack? (Choose three.) 

A. Receive log data from remote systems. 

B. Store log data persistently. 

C. Aggregate log data over a period of time. 

D. Process log data to extract information. 

E. Forward log data to other services. 

Correct Answer: ADE 

 

 

QUESTION 2

Which section of the Prometheus configuration defines which nodes are monitored? 

A. scrape_config 

B. targets 

C. rules 

D. listener 

E. nodes 

Correct Answer: A 

Reference: https://prometheus.io/docs/prometheus/latest/getting_star 

 

QUESTION 3

Which Ansible keyword is used in a playbook to store the result (i.e. return code) of a task in a variable? 

A. register 

B. return 

C. output 

D. result 

E. set_fact 

Correct Answer: A 
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https://docs.ansible.com/ansible/2.5/user_guide/playbooks_conditionals.html 

 

QUESTION 4

Which sections can exist in a Logstash configuration file? (Choose three correct answers.) 

A. output 

B. filter 

C. input 

D. forward 

E. generate 

Correct Answer: ABC 

https://www.elastic.co/guide/en/logstash/current/configuration-file-structure.html 

 

QUESTION 5

The following command is issued on two docker nodes: 

docker network create --driver bridge isolated_nw 

Afterwards, one container is started at each node with the parameter --network=isolated_nw. It turns out that the
containers can not interact with each other. 

What must be done in order to allow the containers to interact with each other? (Choose two correct answers.) 

A. Use a host network instead of a bridged network. 

B. Add the option --inter-container to the docker network create command. 

C. Start the containers on the same node. 

D. Change the --network parameter of docker create to --network=isolated_nw,nofence. 

E. Use an overlay network instead of a bridged network. 

Correct Answer: CE 

https://docs.docker.com/v17.09/engine/userguide/networking/#bridge-networks 
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